e QFUARTERLY CoMMON EXAMINATION - 2022

N Reg. No.
rl'O Std MATHEMATICS ? ‘
Ime : 2.30 hrs. Q}‘W U*V7 , Marks : 100
I Choose the best answer. \ 14X1=14
1. Ifthere are 1024 reley)ﬂns from a set A = {1,2,3,4,5} to a set B, then number of elements inBis
a)3 b) 2 c)8 d) 4
@If f(x) = x? - x then f(x-1)-f(x +1) = a) 4x b) 2 - 2x c)'z/’4x d) 4x- 2
3. The sum of the exponents of the prime factors in the prime factorization of 1729 is
a) 1 b) 2 ) 3/ - d)4
4. TR = wcniiiimg (mod 100) a)1 b) 2 c) 3 d) 4
5. Y *‘;5‘ is not equal to

4 2 2 2
P 5] ( 1) 1 . ( 1]
A== b) | ¥+— : ¢) | y—=—1| +2 d) | y+—| -2
= 1 e )[ y} ) | 2

(1.5 bZ .
@ (’3_/)2“-",)2_“2: a)a-b b)a+b c) a¥-b? : dt)'l/

/. Graph of a linear polynomial is a

alsrdfght line b) circle c) parabola d)hyperbola
B. InAWMN, £L=60, £ZM =50 TFALMN ~ APQR then the value of £ Ris
S ia) 400 ,mm : c) 30°4 d) 110° S
8 J4HBC, DEL ‘ : Mrlm*theh'tﬁeﬁengtﬁ:df‘%?rfmm;:;:';7{:.’;:-rz-f:._"a:
a7 l.49cm b) 1.8cm c) 1.2cm d) 1.05cm
10, The straight line given by the equation x=1 is/7
a) parallel to x axis b) parallel to y axis
¢) passing through the origin d) passing through the point (0,11)

11, If slope of the line PQ is /,/S . then, slope of the perpendicular bisector of PQ is

a) 3 b -3 /\ ) /,/3 d)0

12, The equation of adine passing through the origin and endicular to the line 7x- 3y + 4 =0 is
ay7x -3y +4=0 B)3x-7y +4=0 C)3x+7y =0 d)7x-3y =0 t
13. 1fsind = cosd then 2tan’d + sin’d - lisequalto  a) "% b')/3)/2 c) % d) "%
14. Variance of first 20 natural number is y
a) 32.258 b) 44.25 c) 33.25 d) 30
b4 Nota: Answer any 10 questions. Question No. 28 is compulsory. 10X2=20

- 45, TA X B ={(3,2), (3, 4), (5, 2), (5,4)}, then find A and B.

*r- I \3 = 3x + 2, g{x) = 6x - k and if fog = gof, then find the value of k.
17.  Find the least number that is divisible by the first ten natural numbers.
13.. If 13824 = 2* X 3* then find a and b.

19, Which term of an A.P 16, 11, 6,1, ....... is .....7 547
) Tp+2
20. Find the excluded values of the following expression m
- \ - R & 10 - saipd (EM) udmd -1
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Find the square root of = ]()()) V o

In AABC - D and E are points on the sides A and AC reapectively such that E (e,
.- . ;
1t 4D = ¥} and AC = 15cm, find AE.

Show that the polnts (-3, -4), (7, 2) and (12,5) are collincar,
Find the slopeof a line joining the polnts (5, /5 ) with the origin,

['+4
Find the equation of a stralght line whose slope 15 % and It passes through (<1, 7).

1+sin@
Prove that : end = sec 0 + tan 0.

Find the range and co-efficient of range of the data 63, 69, 98, 125, 79, 108, 117, 6%,

1

0= b
TFD then find _——PZ—QZ' :

P=
If +b’

Note : Answer any 10 questions. Question No. 42 is compulsory. 1075 =59

Let f:A— B be a function defined by f(x) = %-1 where A = {2,4,6,10,12},'8 = {0,1,2,4,5,5%
represent f by i) set of ordered pairs i) as table i) an arrowdidagram iv) & graph.

If f(x) = 2x + 3, g(x) = 1 - 2x and h (x) = 3x. Prove that fo (geh) = (fog) oh.

Find the sum of the all natural number between 100 and 1000 which are divisible by 11.

.Rekha has 15 square colour papers of sizes 10cm, 11am, 12cm ......... 24cm. How much arez can be
decorated with these colour papers?
.Solveahx+y+z,-5,,_2x y+z—9, o= 2 Fo32501 6122 () ;7 v -

If 36%4 - 603 + 61%% - mx +nisa perfect square, find the values ofm and n.
Solve : pax?- (p + q)x# (p +q)>=0by formula'method. ;

State and prove Angle Bisector theorem.
In figure DE || BC and CD || EF proveithat AD? = AB X AF,

Find the area of the quadrilateral formed by the points (8,6), (5,11), (-5,12) and (-4,2).
Find the equation of the perpendicular bisector of the line joining.the points A(-4,2) and B (6;4).

cos’A—sin’AJ ' (cos’A+sinJ A

Provev thi;lt: [ ras =i gos Artein J = 2sinA cosA.

The scores of a Crickefer in 7 matches are ’7_Q,8QL6Q,SQ,4Q,99,95. Find the standard deviation.

A straight line cuts the co-ordinate axes at A and B. '{%fw
If the mid point of AB is (2,3) find the equation of AB. j -

5 o _;_‘_:“’/
2%8=16

-

Note : Answer the following questions.
a) construct a triangle similar to a given triangle ABC with its sides equal to 6/5 of the corresponding

sides of the triangle ABC. (Scale factor 6/5) (OR)
b) Construct a APQR which the base PQ = 4.5cm, /R = 1359 and the medlan from Rto RGis 6cm ‘o<
a) A bus is travelling at a uniform speed 50km/hr. Draw the distance - time graph and hence find
- i) the constant of variation. ii) how far will it travel in 1%2 hour. iii) the time required to cover a distance
of 300km from the graph. (OR) .
Draw the graph of xy = 24, X,y>0. Using the graph find, i) y when x = 3,li)xwheny = 12.
10 ~ amf;ﬁm (EM) vamb~2
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UARTERLY COMMON EXAMINATION = 2022

WWW. waytosuc €ss.0rg

1025 oparmon MATHEMATICS eatof) Jo[2]3]2]
T ’[”’ L 230 l’"ﬁ. ' / ' / M'urks + 100
I ¥ humq thn h--t unMMun. 14 K1 14
1. I thera ape 1024 relations from a 66t A = {1,2,3,4,5) o A set B, then number of elenients In B Is |
i) 4 | h) 2 ‘ B d)di . Co
20 W0 = A ¥ then f(x ‘l) o f(% #1) = R) Ax B)y2+2% € 2- A% d)4x-2
3, The sum of the expanents nr the prime factors In the mlnm factorization of 1779 (s )
n) 1 h) 2 )3 4 d) 4 : o
4 T & weiinn (mud 100) n) 17 b) 2 03 o d) 4
5, y’;‘hnﬂrmmﬂn : e ‘
j . 7 VI 2
.Y+ ( I ) [ I 1Y 4
o 1 vzl glye=lez g |yi=] -2
v e MW yT Wy)
4 2 b7 ' ' ANy
6, o ‘*"“"‘* 4 o' » r =) 2w ,
p gt By ~ @)a-b b)afb’ ¢) a’ebh "/ d.)1‘
7. Graph ofullnearpolynomlﬁlmu ‘ : |
" &) stralght line b cirele ¢) parabola < “d)hyperbola
B InAMN, 1607, £ M w507, 10 AMN 2 APQR then'thé value of /R is
a) 40" b) 707 ' €) 30°Q. P d) 1100 ' ,
9. Ifin MLC, DE[[BC AB = 3,6cm, AC = 2,4 cm andAD # 2,1 ¢m then the length of AE i3
i) 1.4cm b) 1.6cm &) 1.26m - , d) 1.05¢m
10, The straight line given by the equation ¥ 11 (5
&) parallel to ¥ axls ») by parallel to y axis
) passing through the origin - d) passing through the point (0 11)
11, 1f slope of the line PO 15 //‘ pthen, slope of the parpenmcular blsector of PQ Is
#) f3 by i ©) /f | - d)o
12,  The equation of a ling pass lng through the origin and perpendlculnr to the line 7x - 3y + 4 0 Is
pY 7/ =2y 4 A= (0 b)dx- 7y44 = 0) O34Tym0 d)7x-3y=0 ,
/ | , ;
13, W sin® = coth then 2 tan'o + sin'0 - 1 Js equal to  a) ‘"% b) % <) % d) —%'
14, Varlancs of first 20 natural number 16 , A
n) 32. 25 b) 44,25 ¢) 33,25 d) 30
o Wote : Answer any 10 questions, Question No, 28 Is compulsory. - 10X 2= 20
19, WKAE =4(3,2),(3,4), (5, 2), (54)}, then find A'and B,
16, 01(x) = 344 2, 9(2) = G« b and If fog = gof, then find the value of k,
17, ¥ind the least number that Is divisible by the first ten natural numbers,
1 1013624 = 20 % 3" then find a and b,
19, Vikich tarmaf st AV 16,30, 6,0, 1isnesi 16 110ens 547
i - )2
20, Find the szcluded values of the following expression § “‘””!““ et

. \ ey Rp ll'lp!%

S 10.8T0:Maths~Page - 1
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21,
22.
23.
24,
25,

26.

27.

28.

-&‘%’a

| 30.7

32,

37
34!

35.

36.

37.

39.

40,
41,
42

43.

_,State and prove Angle Blsector theorem
~Infi f'gure DE I BC and CD || EF prove that AD? = AB X AF.

_ b) Construct a APQR which the base PQ = 4.5cm, £R = 350

-t“\

4001‘ l2 16
Hnd\&hﬂﬂqﬂ“&ox@%ref 100x*y*z*

In AABC - D and E are points on the sides AB and AC respectlveIY such that DE || BC.

i A%B /‘ and AC = 15cm, find AE. ' e s

Show that the points (-3, -4), (7, 2) and (12,5) are colllnear b ; ; \
Find the slope of a line joining the polnts (5,4/5 ) with the orlgln CD 0> , A

Find the equat\on of a straight line whose slope Is A and it passes through ( -1, 2)

JLyng =secO+tanp. 1 "
] S 6 "\!

Find the range and co- efﬁcient of range of the data 63, 89, 98, 125 79 108, 117, 68.

Prove that :

{

" : '@I—“’ x-h .3% 'SOL, 636 h

a .

P =y D ey thenﬁnd—z—_"‘f ¥ ..,1—!1-1 7—'“! HCF.
a+b ,a+b QJQ\(\ H S‘-’—;_S' +& oo -} £y n-. ;

Note Answerany 10 questlons Questlon No. 42 Is compulsory. : 10X5='50 J

Let f:A—B be a function defined by f(x) A—l where A = {2,46,10,12}, B = {0,1,2,4,5,9}

represent f by i) set of ordered palrs i) as table iii) an arrow diagram- iv) a graph.

IfFf(x) = 2x + 3, g(x) =1-2xand h (x) = 3x. Prove that . fo (goh) =(fog) oh.
Find the sum of the all natural number between 100 and 1000 whlch are divisible by 11 \'DQ-;}—\ 19 #1304+

Rekha has 15 square colour papers of slzes 10cm, 11cm, 12cm ......... 24cm. How much areacanbe 2190
decorated with these colour papers? : : ‘ : g

Solve : 'x+y+z—5, 2% - y+z=09, X - 2y+3i '16' 0.
If 36x* - 60X 61x2 - mx +nisa perfect square, find the values of m and n.
Solve pax?-(p + q)x + (p + q)2 =0 by formu!a method

Find the area of the quadrilateral formed by the points (8,6), (5,11), (-5 ,12) and (-4,3).
Find the equatlon of the perpendicular bisector of the line jolnlng the points A(- -4 ,2) and B (6 4)

cos® A—sin® A cos® A+sin’ 4
cosA-sind |~ ‘cos A+sin 4

3

Prove that ( ] =‘Zs|nA cosA. :

The scores ofa Crlcketer in7 matches are 70 80 60,50,40,90, 95 Find the standard devlatlon -

A straight line cuts the co-ordinate axes at A and B. \
If the mid point of AB is (2,3) find the equation of AB e

Note : Answer the following questions. | u YRR 2X8 =16
a) construct a triangle similar to a glven triangle ABC with its sides equal to. 6/5 of the correspondlng
sides of the triangle ABC, (Scale factor 6/5) (OR) '

and the median from R to RG is 6cm.
@) Abus s travelling at a uniform speed 50km/hr. Draw the distance - time graph and hence find

1) the constant of variation. I1) how far will it travel In 1% h

our, iii) the time required to cover a dl
of 300km from the graph. (OR) ) the q stance
Draw the graph of xy =24, V201 Lising the graph find, 1) y when x = 3, I1) X wheny = 12,

\ . " . 1 0 STlDthtlegt!a§@gma|
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I ¥ humq thn h--t unMMun. 14 K1 14
1. I thera ape 1024 relations from a 66t A = {1,2,3,4,5) o A set B, then number of elenients In B Is |
i) 4 | hi) 2 ‘ B d) 4 - o
20 M) = A then f(xe ‘l) o f(% #1) = R) Ax b) 2~ 77 ¢) 2 A% d)4x-2
3, The sum of the axponents of the prime factors In the prime factorization of 1729 Is ;
n) 1 h) 2 )3 4 d) 4 : o
1 4, 7“.=,nunuu.(nuullno) n) 17 b) 2 c) 3 . d) 4
5, y’;‘hnﬂrmmﬂn : (5 ‘
j . 7 VI 2
Y4l ( [ ) [’ | 1 4
& | E waw b by [ y4=1| ) |y 42 dy | y4=1]~2
v o digri: Wy
" 2 b’l' . ‘ . = '
6, ~ mw e g , ) B '
p g '  ®a-b b)afb’ ¢) a’ebh "/ d.)1‘
7. Graph ofullnearpolynomlﬁlmu ‘ : |
" &) stralght line b cirele ¢) parabola < “d)hyperbola
B InAMN, 1607, £ M w507, 10 AMN 2 APQR then'thé value of /R is
a) 40" b) 707 ' €) 30°Q. P d) 1100 ' ,
9. Ifin MLC, DE[[BC AB = 3,6cm, AC = 2,4 cm andAD # 2,1 ¢m then the length of AE i3
i) 1.4cm b) 1.6cm &) 1.26m - , d) 1.05¢m
10, The straight line given by the equation ¥ 11 (5
&) parallel to ¥ axls ») by parallel to y axis
) passing through the origin - d) passing through the point (0 11)
11, 1f slope of the line PO 15 //‘ pthen, slope of the parpenmcular blsector of PQ Is
) f3 by i ©) /f ‘ A0
12,  The equation of a ling pass lng through the origin and perpendlculnr to the line 7x - 3y + 4 0 Is
pY 7/ =2y 4 A= (0 b)dx- 7y44 = 0) O34Tym0 d)7x-3y=0 ,
/ | , ;
13, W sin® = coth then 2 tan'o + sin'0 - 1 Js equal to  a) ‘"% b) % <) % d) —%'
14, Varlancs of first 20 natural number 16 , A
n)32. 25 b) 44,25 ¢) 33,25 d) 30
a Hfmx Annvier any 10 questions, Qusstion No, 28 |8 compulsory. - 10X 2= 20
19, WKAE =4(3,2),(3,4), (5, 2), (54)}, then find A'and B,
16, A01(x) = 344 2, 90) = 67 < b aind If fog = gof, then find the value of k,
17, ¥ind the least number that Is divisible by the first ten natural numbers,
1 1013624 = 20 % 3" then find a and b,
19, Wheh tarm of sn A 16,90, 6,0, v 16 01orer 547
' - )42
20, Find the szcluded values of the following expression § “‘””!““ et

, ‘ i #p! ll'lp!%

S 10.8T0:Maths~Page - 1
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21,
22.
23.
24,
25,

26.

27.

28.

-&‘%’a

| 30.7

32,

37
34!

35.

36.

37.

39.

40,
41,
42

43.

_,State and prove Angle Blsector theorem
~Infi f'gure DE I BC and CD || EF prove that AD? = AB X AF.

_ b) Construct a APQR which the base PQ = 4.5cm, £R = 350

-t“\

4001‘ l2 16
Hnd\&hﬂﬂqﬂ“&ox@%ref 100x*y*z*

In AABC - D and E are points on the sides AB and AC respectlveIY such that DE || BC.

i A%B /‘ and AC = 15cm, find AE. ' e s

Show that the points (-3, -4), (7, 2) and (12,5) are colllnear b ; ; \
Find the slope of a line joining the polnts (5,4/5 ) with the orlgln CD 0> , A

Find the equat\on of a straight line whose slope Is A and it passes through ( -1, 2)

JLyng =secO+tanp. 1 "
] S 6 "\!

Find the range and co- efﬁcient of range of the data 63, 89, 98, 125 79 108, 117, 68.

Prove that :

{

" : '@I—“’ x-h .3% 'SOL, 636 h

a .

P =y D ey thenﬁnd—z—_"‘f ¥ ..,1—!1-1 7—'“! HCF.
a+b ,a+b QJQ\(\ H S‘-’—;_S' +& oo -} £y n-. ;

Note Answerany 10 questlons Questlon No. 42 Is compulsory. : 10X5='50 J

Let f:A—B be a function defined by f(x) A—l where A = {2,46,10,12}, B = {0,1,2,4,5,9}

represent f by i) set of ordered palrs i) as table iii) an arrow diagram- iv) a graph.

IfFf(x) = 2x + 3, g(x) =1-2xand h (x) = 3x. Prove that . fo (goh) =(fog) oh.
Find the sum of the all natural number between 100 and 1000 whlch are divisible by 11 \'DQ-;}—\ 19 #1304+

Rekha has 15 square colour papers of slzes 10cm, 11cm, 12cm ......... 24cm. How much areacanbe 2190
decorated with these colour papers? : : ‘ : g

Solve : 'x+y+z—5, 2% - y+z=09, X - 2y+3i '16' 0.
If 36x* - 60X 61x2 - mx +nisa perfect square, find the values of m and n.
Solve pax?-(p + q)x + (p + q)2 =0 by formu!a method

Find the area of the quadrilateral formed by the points (8,6), (5,11), (-5 ,12) and (-4,3).
Find the equatlon of the perpendicular bisector of the line jolnlng the points A(- -4 ,2) and B (6 4)

cos® A—sin® A cos® A+sin’ 4
cosA-sind |~ ‘cos A+sin 4

3

Prove that ( ] =‘Zs|nA cosA. :

The scores ofa Crlcketer in7 matches are 70 80 60,50,40,90, 95 Find the standard devlatlon -

A straight line cuts the co-ordinate axes at A and B. \
If the mid point of AB is (2,3) find the equation of AB e

Note : Answer the following questions. | u YRR 2X8 =16
a) construct a triangle similar to a glven triangle ABC with its sides equal to. 6/5 of the correspondlng
sides of the triangle ABC, (Scale factor 6/5) (OR) '

and the median from R to RG is 6cm.
@) Abus s travelling at a uniform speed 50km/hr. Draw the distance - time graph and hence find

1) the constant of variation. I1) how far will it travel In 1% h

our, iii) the time required to cover a dl
of 300km from the graph. (OR) ) the q stance
Draw the graph of xy =24, V201 Lising the graph find, 1) y when x = 3, I1) X wheny = 12,

\ . " . 1 0 STlDthtlegt!a§@gma|
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VvioM Virudhunagar District Common Examinations w

Common Quarterly Examination - September 2022
www.waytosuccess.org 0= = = - =

Standard 10

VIRUDHUNAGAR  MATHEMATICS
Time Allowed: 3.00 Hours Maximum Marks: 100
‘ Part-A ' ‘
Note : i) Answer all the 14 questions. 14x1=14"

ii) Choose the most suitable answer from the four given alternatives
and write the correct option.
A = {a,b,p}, B = {2,3}, C = {p,q,r,s}, then n[(AUC) x B] is
a) 8 b) 12 c) 16 d) 20
Ifg = {(1,1), (2,3), (3,5), (4,7)} isa function given by g(x) = ax + B, then the
values of a. and B are

a) (-1,-2) b) (-1,2) c) (2,-1) d) (1,2)

The range of the relation R = {(x,x2) / x is a prime number less than 13} is
a) {2,3,57} b) {2,3,57,11}

c) {4,9,2549,121} d) {1,4,9,2549,121%}

A sequence is a function defined on the set of
a) realnumbers b) natural numbers  c¢) whole numbers d) integers

5. An A.P consists of 31 terms. If its 16th term is m, then the sum of all the terms
of this A.P is ' ) :
a) 3% b) 31 <) 16 ~d) 62
6. If 74K = (mod 100) : ’
a) 1 b) 2 } c) 3 d) 4
7. The solution of the system x +y - 3z = -6; -7y +7z=7;3z=9is
a) x=-1,y=-2,z=-3 . ) b) x=-1,y=-2,z=3
c) x=-1y=2,2=3 ddyx=1y=2,z=3
8. The solution of (2x - 1)2 = 9 is equal to _ ;
a) -1 b) 2 -~ c) -1,2 d) none of these
9. Product of the roots of the quadratic equation x2+3x=0is
a) -3 ‘b) 3 - €);"0 d 1
10. In ALMN, 2L = 60°, Zm =50° if ALMN ~ APQR then the value of ZR is
a) 300 b)( 40° c) 70° d) 110°
11. In a AABC, AD isithe bisector of ZBAC. If AB = 8 cm, BD = 6 cm and DC = 3 cm.
The length ofithe side AC is '
a) .3cm . b) 4.cm c) - 6cm d) 8cm
12. The area of triangle formed by the point (-5,0), (0,-5) and (5,0) is-
‘ a) 0 sq.units b) 5 sq.units c) 25sq.units d) none of these
13. The slope of the line PQ is /Jg , then slope of the perpendicular bisector of PQ is
2) 3 b) -3 SEA- a5
14. tan® cosec2e - tan@ is equal to a) sin@ b) sec® c) coté  d) cot<e
) . Part-B
Answer any 10 questions. (Q.No.28 is compulsory) ' 10x2=20
15. FindAxBandBx AifA={m,n} and B = ¢.
16. A relation f : x—v is defined by f(x) = x? - 2 where X = {-2,-1,0,3}andY =R
i) List the elements of f i) Is f a function? ’
17. If f(x) = 3x + 2, g(x) = 6x - k and if fog = gof, then find the value of k.
18. Find the greatest number that will divide 445 and 572 leavingremainders 4 and
5 respectively. )
19. Which term of an A.P 111, 108, 105, 102, ........ is3?
20. If a clock strikes once at 1 O’clock, twice at 2 O’clock, thrice at 3 o’clock and so
on, how many times will it strike in a day? 5
21. Find the excluded value of the expansion 3x 227 :
XX _-%steam100@gmail.com
22. Determine the quadratic equation whose roots are “3/2 and -1. -
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ViOM 2 .

23. If AABC ||| ADEF such that BC = 3 cm, EF = 4 cm and area of AABC = 54 cm?2.
Findvy M SHoResERY : \ : _

24. In AABC, D and E are points on the sides AB and AC respectively such that

- AD 3 B S
DE}|BC if DB -2 and AC = 15 cm, find AE.

25. Find the value of 'a' if the points (2,3), (4,a) and (6,-3) are collinear.
26. Find the equation of a line whose inclination in 30° and making intercept -3 on
the y-axis.
sinA sinA
—2cosecA
27. Prove that 1+cosA +1—cosA

28. If o.and p are the roots of x? + 7x + 10 = 0, find the value of a-.
' Part-C _
Answer any 10 questions. (Q.No.42 is compulsory) , 10x5=50
29, LetA={x6N/1<x<4},B={XEW/Osxs3}and _y '
C={xe N/x<2}, then verify A x (BnC) = (A x B) n (A x C)

2X+7 ; X<-2
30. Let f(x)={x2-2 : —2<x<3 be a function defined on R—R then find the values of
3x-2 ; x=3 : : | :
i i - f0)554)
i) f(4) i) f(-2) iii) f(4) + 2f(1)  iv) 3

31. Show that composition of function is associative f(x) =x-4; g(x) =x%and
h(x) =3x-5. N L

32. Determine the general term of an A.P whose 7" term is -1 and 16t term is 17.

33. If a, b, c are three consecutive terms of @mA.P and X, Y, z are three consecutive
terms of a G.P, then prove that xP>Gx yca x za-b = 1

34. Find'the GCD of the polynomials 3x*% 6x3 - 12x2 - 24xand 4x* + 14x3 + 8x2 - 8x

35. A bus covers a distance of 90 km’ at a uniform speed. Had the speed been
15 km/hour more it would have taken 30 minutes less for the journey. Find the
original speed of the bus.

36. If a and B, are the rdots of:the equation x2 + 6x - 4 = 0, find the quadratic
equation whose roots.are o? and p2. . ~

37. State and prove‘Angle bisector theorem. :

38. Find the area of the quadrilateral formed by the points (8,6), (5,11), (-5,12)
and (-4,3). ' -

39. Using slope concept, show that the points (1,-4), (2,-3) and (4,-7), form a
right angled triangle.

40. Find the equation of the perpendicular bisector of the line joining the points
A(-4,2) and B(6,-4).

41. If cos0+sin®=+/2cos6 , then prove that cos6-sin®=+2sins .

42. Find the sum to n terms of the series 0.4+ 0.44 + 0.444 + ..... to n terms
Part-D

Answer all questions. , 2x8=16

43. a) Construct a triangle similar to a given triangle PQR with its-sides equal to %

of the corresponding sides of the triangle PQR. (OR)

b) Construct a APQR in which QR = 8 cm, £ZP = 60° and the bisector of ZP meets
QR at S such that QS = 6 cm.

44..a) A bus is travelling at a uniform speed of 50 km/hr. Draw the distance time

graph and hence find _ »
i) the constant of variation ii) how far will it travel in 11/3_ hr
iii) the time required to cover a distance of 300 km fi”éﬁ‘ﬁaEH%"@PS“p'h".W( OR)

b) Draw the graph of using xy = 24, x,y>0. Using the graph find
iYvwhenx =3 and ii) x when v = &
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STANDARD 10 QUARTERLY EXAMINATION - SEPTEMBER 2022 Bl MBA -

- Se
Time! §200fpguccess-org : MATHEMETICS fi}ax Mharks:100 gihs-
Sen ‘(wﬂ chis 15 PSP L" &2 bbo 9‘,
- : “ PART =) [MARKS - 14]
I. Answer all the 14 qucstlohs. Choose the most stitable answer from the given four

alternatives. f , 14x1=14
I.1fn(A x B)= 6 and A = (1,3} then n(B)is @) b)2 @3 d) 6

2. If A and B arc any two non — empty scts and R i8 @ relation from A to B, then the domain
of Ris a)A b) BB @a subset of A d) a subset of B

3. LetA={1,2,3,4}and B = {4,8,9,10}. A function f:A > B given by
f=1{(1,4),(2,8),(39), (410)} IS i BN

oy
e @) Manyssofic function b) MMOH () One — 1o — one function d) Into function
4. 1fthe HCF of 65 and 117 is cxpresslble in the term of 65m — 117, then the value of m is
a) 4 (6)2 o)1 d)3
5. In how many ways 64 can be written as the product of three numbers such that the
numbers are in G.P? )0 b)1 ©)3 d) infinite
6. The value of (13 + 2% + 33+...+15%) = (1 + 2 4+ 3+... +15) is
2) 14400  b) 14200  (c)14280  d) 14520

3y-3 , 7y-7. 9y 9y3 21y2-42y %21 | 7(y2-2y+1)
% b * 3y? 18 @7 b) (21y-21) °) 3y3 d) y?
8. Which of the following should be added to make x* — 14x,@ perfect square. - !
a)7 () 49 ¢)-49 d) 196 g,
9. Graph of a lincar equation is a@ Stralght line ., b Clrcle ¢) Parabola _d) hyperbola
10 1T ALMN, ZT=60°; ZM = 50° TPALMN ~ KPR than the value of ZRTs
a) 40° (by70° ¢) 30 d)110°

11.In a AABC, AD is the bisector of 2ZBAC.df AB = 8¢cm, BD = 6cm, and DC = 3cm. The
lengthof the side ACis @) 6 cm <y @ 4 cm c)3cm d) 8 cm

12. The slopc of the line joining(124.3), (4, a))i 1s =, The value of ‘a’ is a) 1 b) 4 ¢)-5 @2

13. Two straight lines a; X+ bpy.+ ¢, =0 and ax+ by + cz = 0, where the coefficients
are non — zero, are perpendicular iff

a)a;b, =a,by =0 b)ajb, +a,by = 0 ®aa; + blbz =0 d)a;a, —bb, =0
— ' 3 2 -2
14, If sin 8 = cos 0, then 2tan?0 + sin?@ — 1 is équal to  a) = T ) : 92 92
PART - II [MARKS 20]
11. Answer any ten questions. Question No. 28 is compulsory. 10x2=20

15.1€ A(2,~2,3} and B = (1,—4) then find AX B, AX A
16. Represent the function f = {(1,2),(2,2), (3,2), (4:8)7(5,4)} through
(i) an arrow diagram (i) a table form
17. The function g is defined by g(x) = 5-2- Calculate the value of gg (%)
18. Computc x, such that 10* = x (mod 19)
19. Find the sum of 6 + 13 + 20+4...+97

20. Find the first term and common ratio of the G.P, whose 2™ term is V6 ¢ and 6" term s 9v/6.
21. Find the LCM of 5x — 10 and 5x2 — 20
22, Determine the nature of the roots of the quadratic cquation x? = x — 1 = 0.
23. A vertical stick of length 6m casts a shadow 400cm long on the ground and at the'Sigsg, C0@9mail.com

€ same
time a tower casts a shadow 28m long. Using similarity, find the height of the tower.
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. A1 AARC. D and T are points on the sides AB and A« Fespéctively such that
0 4 DL, s oAd AC = 15cm find AE.
4~ 25, Shaw tarfE pdints (—2,5), (6. 1) and (2, 2) arc colfincar ie W

26. Find the cquation of a straight line which has slope -—-; and 'passing thmus'lT |h'ew; (-1,2)

27. Prove the identity %:n = secO —tan® . .
VX ‘¢ﬁﬁ" . 1 P JQf
28. Simplify: L‘—f! 9 O - e T
PART = LI [MARKS 50
111. Answer any ten questions. Question No. 42 is compujsory. 10¢%=50
20 Lot A = (x€w/x<2},B={XxEN/ <X €4 and (= (3,5). Verify that b
Ax(BuC)=(AxXB)UAXC) o
; N 5 ¢ o Wan, ’
- %0, 1f'the fanction R T is defined by w <.
x4+ 7 x <=2 %
f(x) ={x? =2; —2<x<3 then find the values of
3x—2; x23 )
(i) f(4) (i) f(=2) (i) F(4) + 2f(1) (iv) ﬁlﬁ;—(ﬂ

31, If f(x) = x%,g(x) = 3x and h(x) = x — 2. Prove that (fog)oh = fo(goh).

32, Prove that 2" + 6 x 9" is always divisible by 7 for any positive integer n. ).,
33. Find the sum of the scrics @23 -1%H)+ (43 - 33+ (6 - 53)+...to (i)n terms (ii) 8 terms
34. The sum of the digits of a three — digit number is 11. If the digits arg reversed, the neW,

number is 46 more than five times the former number, If the hufidreds digit plus twice

the tens digit is cqual to the units digit, then find the originalthree'digit number?
1 2B

o)

2x+1 2x-1
===
-

= =

w
36, bindthe valucs ofa and D qoinial 4x* — 123 +37x* +bx +aisa perfect square.
37. A bus covers a distanceof 90 km at a uniform speed. Had the specd been 15 K R —
more it would have taken 30 minutes less for the journcy. Find the original speed of the ‘

bus.
38, State and prove Angle Bisector Theorem: i
39 %Find the value of k, if the aréa ofa quadrilatera
(-4,-2), (-3,k), (3, —2)and (2, 3)
40. The linc joining the points A(0,5) and B(4,1) isatan
at the point (4,4). Find
(i) the equation of the line AB (ii) the cquation of the'lihe through C which is perpendicular to the hne AB.
(iii) the coordinates of the point'df contact of tangent line AB with the circle.
41 1f cosecB®+ cot 8 = P, then prove that cos 6 = :—2-%-:-
2.1x=1+p+p+..oy=1+4 +q*+...0and |p

14964 pP’+. 0 = 7%-'1‘ D |
PART - 1V [MARKS Tg) 00
V. Answer the following questions.
ar 10 a given triangle PQR with its sides equal to ; of the
wriangle PQR (Scale factor ; < 1) (OR)
nedian |

lis 28 sq. units, whose vertices are

gent to a circle whose centre Cis

| <1, |ql < 1 then show that

N

n¥=16

43, (a) Construct triangle simil
corresponding sides of the
(b) Construct a APQR in which QR = 5cm, &P = 40° and the !
is 4.4 cm. Find the length of the altitude from P to QR.
44. (a) A bus is travelling at 8 uniform speed of S0km/hr, Draw the d

hence find (i) the constant of variation, (ii) how far will it "‘“’cll ' )
Jooon af. o 40 llAnllifP iste 4 f ‘hc ru ] OR i
. ~aver a distance of 300 km, from ti gmp ( 2and (ii)x wheny =6

e Y ™

'(} from P to QR

jstance — me graph and
90 minuCSwisteam100@gmail.com
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h

10.

i) Qer@asuuL@erer wrpy aleLsafle Wsap gHyew alwLoug CopimtsbHsgs
SRS Pt allwullmanyb Coirgs) eripsab.
A=1a,b,p}.B=12.3},C={p.q.r.s\ eesfled n[(A ()< B] Syemg
a)8 b) 20 c)12 d) 16

J wHpib g eesiD &uesn® eniysend £ = (0, 1), (2, 0), (3, —4), (4a(57)!.

g= W0, 2001 0). (2. 4). (4, 2), (7. 0)} stexrd Q&n@aaULLLIED fo 8651 shesminensy

a) {0,2,3,4,5} b) {-4,1,0,2,7} o) {1, 3, £5} d) {0, 1, 2}
T = (oL@ 100).
a)l b) 2 o) X} d) 4

¢ salBs asnLiaflensulss beug o mlifiégb, DLmiEh 7 eug & muulelr 7 WLRGD oD e,
Sissal B35 O\ smLneuflensulen 13-sug) 2 miy

a)0 b)6 c)7 d) 13

S BGUYE FOESTUMLIRET Q(H ePsoLd DMMSET SEnosL aestled

a)a=bh b) b g c)c=a d)c=-a

X7+ 64 Wpe suTéELNS DN S 6T LETEUHEISTEINMIET 6T0SS Sal'l GousiiBLd?

a) 4 b) 16x° c) 8x2 d) -8x° h

45 =24¢ + T6xr ~ akx b 9m WP auesLD aeufled, a DI b-uller ey

A) 100, 120 , B) 10, 12 C) -120, 100 D) 12,10
5.5,555..... e6TLg)

(1) @ saL BN auflens

(i) 8 CLEAHSEHFLT euflens ‘

(iil) sa GAEHBNLIT DHOID OILGSHSSESNLIT aurflsnswin@Ld

(iv) sacBEASNT suflenauedes; OUMGSSSNSTLIT auflensid Bisoed

Semeugrsvensuppen a1y o7 Tl e =
a) (1) wc@w b) (ii) wLEBW ¢) (iii) we@w d) (iv) mm SO SHUD
4B = !’(, m ABC wipgid [;:DF SLEIINAPEG CUIQEIEUMTGHHEDEULITE HEDLDWLD.

DE FD

a) 4B = /F b) £ZA = £D ¢) LB =4D d)ZA=LE: . o
oL g Bt BMBCETBID M6 BHIWD OTHIGHSTE MDD BLD

2) eouad b) “ﬂ'@ Lmﬂ‘ﬂ C) W Msteg%%&mail.com
, ) V/10/Mat/1
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A y}Ml,WGJV g{g; OEnBaaiurL CHIGHILRST sweiLINLTENS

2) X -O\e6:86 Benevor b) Y - Di58:6:& @ewewt
¢) SpBlysiref eufs azcoeyLd d) (0, 11) evsbr Lysirerl auflé oD

i 5% - 1 -
2. Cam.GsgIson® P ulsir ey :/—5- aieefieo, P -6:@ 6\8hiGSSTET Bh 1D Q6uL1guledT &6

a) 3 b) - \3 o s d)o -

VG HNDSIDNENE| @ sMeusiDns Sienidwis Gaemeuwinest Burbgemeot

a) @@ LIGSTHISET Bemesor b) & usEuseT GeweT LHNID BB LISSMHISET GEUiLDDEey
C) oSS LSEHISST Gewewt d) DEDENSFI LSSHISHEHLD FLOD

14. sind = cosd erenfied, 2tan® + sin’0 — 1 -ebr &Ly
-3

13,

_ 3 , 2 -2
- R B) <= bl d) s
2 '2 s ) 3
uGs - 11
G: sreaCueys 10 allsrrssenés o wellss. allarr eont 28-6@ sLt_rwors el weflssa.

10x2=20

15. A= {x/x etetrug) 3 67 LM Wbmib x < 10} wihmud B = {x/x ee8LSI @1 enLIUEDL LIST 61650 | 6T6fl6v,
A x B anewns,

16. fix)=3x-2, g (x)=2x+ k wbmid fo g = gofawﬂmk-mwﬁusmu&ansm&

17. 13824 =29 3 etesfléd @ womitd b -ulest LGS Emete:
18. 15=3 (LG d) eretTmeunmy Siewwwb d -ullesr dlienus Sioresflss,

19. 3+k 18-k, 5k+ 1 eisireneu @b sal G SGnLiicuflenauled 2_eierent eteufled & ~ufledt oSS et
20. &MHSHSS: \——16. ek l// /

x+4 x+4 : R
. .2 20 0 er6dTD B(HLIREF FLDEOTLIMLIQEH Qt_ps\)rmsssxﬂan SETEMIDEDIL DTS, T /
22. 2x°—5x — 3 wpmib 4x” — 36 -6t B.6WIMLD. STesurs;, v

23. AABC ~ ADEF -6o AABC~ufett upty 9 6\&.15°, ADEF -ullesr ugtiy 16 01&..5” wpmib BC = 2.1 a5
eieuflso £F -uflebt LoSLIL| SITewuiss.

24. AABC, ulett ussmuest AB wipmib 4C -uledr Lngsirsn yeeflgs wpemmCGui D wipmid £ Syeng DE || BC
. . b O s I ; e ,
TN SHEDDIBSHIETENGL. Typ = 7 LDODID AC =15 61&.8 etevlled AE -uflesr oL &mevors.
25. P(-1.5,3), Q(6,-2) whmb R (-3, 4) Spdw yetreflaer @Gy GBIGHMLIQEd SHEMDW|LD eT6uTs HTLBS,
26. 4x — 9y + 36 = 0 @16t CHICHNG Spw Siéaseiled FHUGSSID C6U-BSSITTBS NS, SHERTE.
7 sin A i sin 4
" l+cosd 1-cosd

= 2cosecA estiLiens BemLlssab. !

28. ax + b,y + ¢; = 0 wppud &x + by + ¢, = 0 eletin @ CHTEEEHTBSEHLD @m@,a;aasrrszsr@ OETHIG G5
e1edfied a,a, + b, b, = 0 ereor Brpll.
u@sl - 111
@ semaCuab 10 aflarrsaenie oo weflds, allerr orent 42-6@ SLLTULTS aflevL_wefssayb.
‘ 10x5=50
29, A={xeW|Xx< 2}, B = {xeN|1<x <4} wppud C= {5, 5) erenfled, OBMBHSLILLL FETUTEDLE FillLnise,

A % (BUC) = (AxB) W (4xC).
wisteam100@9Mai-£99 / Mat /2
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41.

42.

. &y £ R — R Spemg) f(x) = -

. B HESS

www.waytosuccess.org [zx +T . x< =,
X’ =2 -2<x<3 e manou@as&UULan

3x-2;, x23

/& @)f2) (i) f(4) + 21 (1) Spweupedr i samens: SHews.

- BI@asLLLL f(X), g (X), h (x) Spdweuheops eanem® (o g) 0 4= f0 (g 0 /) eiess sm@Gs.
f)=x2 g (x)=2x wigd h (x) =x + 4

. 396, 504, 636 SpBweubmest L5.6\U.6u. SnetuTE.

. 100 5@ 1000 &G BewLGW 11 SH60 UGSLBLD DTS BuI6d eTevrserTiein saBge0 HMewrs.

. 5+55+555 + ........ atedip Q\&ILIT euflemauledt wpsed 1 2 miliserflett snBE6D S16T0S.

. GpsnefiLd 10 61&.15, 11 18.15, 12 61&.15. ....... 24 5.5 60T LI&&H DHemeysen 15 F&IT U6y UETIT6wIs

BNESMISST ©_6TT6Nnew. 5 CUHTENTE SETHGRIGEDETS Q&.nswr@ ETEUE6TTEY LITLIEDL HEWL S &mwasrﬂ&a;
QRUID?
1 1 1
2% ey i
x°=5x+6 x"—-3x+2 x2-8x+15

. CUGSHE0 Wempuled LIGTaUBLD LISHEYN)L IL|ECHTEnEUSETIET QTSSO SITETIN s,

3728+ 4x*+ 42x + 9

. RGBCUGDHE 90 8.5a\gTemevenaus £ GoussH6 sLSSDEI. g6 GousD 15 8.5/ pewll DidsMeba LI LTeD,

Lwezor GBgLD 30 BT GePDEDE erevlled, GUBHEET CalBSHEDSEH S6RTHAB.

Gamemor BpEEGULRE BHDMSD®S 61RS Brieys.

(8, 6), (5, 11), (=5, 12) wpmid (-4, 3) Sp8W LeTefisemen (penesisemnas: e\SMewTL HhHarsHeir LglienLs
STET01&, :
A (-4, 2) wibmitd B (6, —4) ersitm LsiTerfls6mem Sememis@Lb emLDUIS & 556 CHTLIQEN FLDGTLIMLEMLE ST6TTS,

6,9

secO + tanB = p etexflév, sech, tand wdmUD sinO eflesr BILBEDET “p” 65T APELDNE:S: SHT6TOTS.

uGs! - IV

GlUL: Smergg allamsseps@d el waflsasa, 2x8=16

43.

2
a) €BNEssULLL (p&GeTemD POR & 958 Lssmias e silaaid T e SlWIDWLOM) R SUIEEI6UNSS

3
(PE&CHTEWILD EUSHTWIQYLD. (SBiaTey smeuti] T <1)
(Siedsog) |
b) OR = 5 61&.18, £P = 30° wpmid P -uledlpbgl OR -66 aueomuiur. &SgisGam et Bemb 4.2 61815
e aesr. APOR euemgwieyLd. ;

44 2) @@ GUBDHS Wenflse 50 8.5/ pexfl aeiin Fmer CouamgHed uu.lsunﬂa,é;ggj, BFOSILILESTEN GNID

(g;ww sueDIULLD suenirbal, Lisiaumeealbenns S5,
(i) sfigzawn onleSlemiLis: STeurs. (ii) 172 pewfl Grggded uu.lamﬂas@ua SMLD eT6veU6TEY?
(iii) 300 8.8 sMSMmS Lwewllss esueene) CHID HpELD?

(Sleosogi)

b) Begnid, 12 8.8 gmsdpanc LTSS PULSDEOT QuDPIwIeTT Speurt. Sieu wewlde 12 H.15
et Sgrien CauasBo @i, Beosdsan 1 e CEISH0 SIDLBS. HNCUDTS OSMLIHE) DpINSe.
Sneraom. OEBWBS. FHWI HOID &EaET SpAGWT PeDCW 6 81540, 4 &.18 oewfl, 3 8.5/
wewhl it 2 &.18/ivewfl ai6iD Geuss 60 Pip EuBHSENIT. HEUTEHET Db HTTSHMS AepDGL 2 Wewfl, 3
wewefl, 4 el OHDID 6 wewfl CEISSED SiewLpgen(T. GausLD - GEILD, Cuenipieat BRSSO
LWeTLGSS. el 2.4 8.15/pewll GoussBed Va6 E\&6nEls TBSGIH6\STevOTL GEUW& 5nma;,

Al I mEd a4
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W78 1V 1CTIRas! UISUNIGCL O A e
‘ Common Quarterly Examination - September 2022

www.waytosuccess.org Standard 10

Time Allowed:3.00 Hours MATHEMATICS Maximum Marks: 100
PART -1

Note: 1. Answer all the questions. TENKASI 14x1=14

2. Choose the best answer.
1. If f: A— B is a bijective function and if n(B) = 7. Then n(A) =

a)7 b) 49 c)1 d) 14
2. If {(a,8),(6,b)} represents an identity function, then, the value of a and b are
respectively.
a) (8, 6) b) (8, 8) c) (6,8) d) (6, 6)
3. 7%= (mod 100). ' '
a)l b) 2 )3 d) 4
31 1 1
4. The next term of th i
: e sequence T=/7g/75/38" " is .
1 1 2 1
a —_— — _— _
) 22 b) 57 ©) 3 9 81
5. The solution of (2x-1)2 = 9 is equal to . :
a) -1 b) 2 c)-1,2 d) None of these
256 x%y*z" ‘
6. The square root of. _25_X6E6_ is equal to
16 [x*z* y? 16| y 16 |xz*
=28 = 16 i IR A bulod] Lisuclll
a) 5 ’ y? b) *® Iz ) 5 |xz 51y

7. Basic proportionality Theoremis. also known as
a) Thales theorem b) Angle blsector Theorem

c) Pythagoras theorem d) Alternate seg ment Theorem.

AB BC
8. Ifin trlangles ABC.and EDF, DE —F—D—then they will be similar,

a) LB P = b) ZA=4«D
c) £/B=«D d) £ZA=2F
9. The point of intersection of 3x-y=4 and x+y=81is
a)(5,3)° b) (2, 4)
c) (3,5) d) (4, 4)

10. (2,1) is the point of intersection of two lines
a)x-y-3=0;3x-Yy- 7=0
byx+y=3;3x+y=7 |
c)3x+y=3;x+y=7
d)x+3y=3;x-y-7=0

11. Theslopeofthestralghtlmeax+by+c—0|s

a : b -a -b
a) i b) " ) 5 d) =
12 ‘The value of sin%0+ 1 5— IS equalto_____ . '
1+tan°0 wtsteam100@gmail.com
a)tan?6 b) 1 c) cot? © d) 0
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TSITOM 2

www.waytosuccess.org 1
13. If 5x = sech and = tan 6, then x*- 75 s gqualio

1 ’ i
a) 25 b) — 5 d)1
) ) 52 | c) )
14. The 10% term of the sequence of 0, 2, 6, 12, 20,.... is .
a) 90 b) 100 c) 110 d) 120
PART - 11
Note: Answer any TEN of the following. : 10x2=20

Question Number 28 is compulsory.

15. If A x B = {(3, 2), (3, 4), (5, 2), (5, 4)}. Then find A and B.

16. Let X = {3, 4, 6, 8}. Determine whether the relation R = {(x, f(x) / x € X,
f(x) = x2+ 1} is a function from X to N?

17. Use Euclid’s Division Algorithm, To find the highest common factor (HCF) of 340
and 412.

18. Find the number of terms in the A.P. 3, 6, 9, 12, ... 11.

19. Find the GCD of the polynomials x* + X2 - X + 2 and,2x>»- 5x2 + 5x - 3.

23 +x*+3 '

( 2 +2)2

21. Solve 2x2 - 3x - 3 = 0 by formula methed. . ”

22. Find the equation of a straight linetwhose inclination is 45° and y - intercept
is1l. .

23. Find the area of the triangle formed by the points (1, -1),(-4, 6) and (-3, -5).

24. Find the slope’of a line joining the points (5, J/5 ) with the origin.

20. Sdbtract > from

1+sin6
25. Prove the following/identities T_<ine = sec 0 + tan 0.

56, If AABC is similar to ADEF such that BC = 3cm, EF = 4cm and Area of

AABC = 54cm?. Find the area of ADEF.
27. Determine the nature of the roots of the quadratic equations x*- x -1 = 0.
28. Find the intercepts made by the line 7x - 5y + 35 = 0 on the co-ordinate

axes.

PART - II1
Note: Answer any TEN of the following. 10x5=50

Question Number 42 is compulsory.
29. LetA={xEN/1<x<4},B= {er/0<x<2}andC {xeN/x<3},

Then verify that
(A x (BUC)=(AX B)U(A xC)
(i) Ax (B NC)=(AX B)N (A x C)
30. A function f: [-5,9]! R is defined as follows:
f(x) = 6x+1 ;-5<x<2
5x2-1;2<x<6
3x-4 ;6<x=<9 wtsteam100@gmail.com
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i UV

31.

32.

33.

34.
C L
36.

37.

38.

39,

40.
41.

42.

ﬁndwww.@&ytof&c&}s.-brg(Z)
(i) f(7) - f(1)
i) 2f(4) + f(gy
. 2f(-2) (k)
™ F@yeieay

Aperson s
aved money every year, half as much as he could on the previous year.

SUstyes ed Y7875 in 6 years. Then how much did he save in the

Find the sum of the series 62 + 72 + 82 +....+ 212,

) ,
Sove: -+ —-L_1 1_1 1 1 a__2

XAy 3kTAixTy Xy T
Find the square root of polynomials x* - 12x3 + 42x2
Basic Proportionality Theorem. State and Prove it.

Two poles of height ‘a’ metres and ‘b’ metres are 'p’ metres apart. Prove that
the height of the point of intersection of the lines joining the top of each pole to

- 36x + 9 by division method.

- ab
~ the foot of the opposite pole is given by a+p Metres,

Find the area of the quadrilateral whose vertices are (-9, -2), (-8, -4), (2, 2)
and (1, -3).

The line joining the points A(0,5) and.B(4,1) is a tangent to a circle whose
centre C is at the point (4,4). Find :

(i) The equation of the line AB. ‘ -

(i) The equation of the line through C which is perpendicular to the line AB.

-(iii) The co-ordinate of thepoint of contact of tangent line AB with the circle.

SinA SinA :
\ = 2 Cosec A.
proye that 1+CosA. 1-CosA |

. 3tan6-tan’ 6
If /3 sin - cos 6 = 0. Then show that tan 36 = 1_3tan’e -
Let A ={1,2, 3, 4andB = {2,5,8,11, 14} be two sets. Letf: A>Bisa
function given by f(x) = 3x - 1. Represent this function.
(i) ByArrow diagram
(i) ina table form .
(iii) as a set of ordered pairs

iv) i raphical form | '
gvci Ig :rge t:e roots of the equation 3x? + 7x - 2 = 0, find the values of

o B
O™
(i) <, B

ﬁ o

wtsteam100@gmail.com
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TSHEM ¢

PART -1V
WWW. waytosuccess or
Note: Answer all the questlons - 8x2=16
43. a) Construct aAPQRin whlch PQ = 8cm, £ZR = 6Q° and the median RG from R to
PQ is 5.8 cm. Find the length of the attitude frqm R 1l;o RQ.
(OR)

b) Construct a trian_gle similar to a given ;riangle ;PQﬁ ,witH its sides equalto  of

: 7
the corresponding sides of the triangle PQR (Scale factpr ‘§> 1).

44. a) Varshika draw 6 circles with different sizes. Draw a‘_graph for the relationship
between the diameter and circumference (approximately related) of each

cwcle as shown in the table and use it to find the circumference of a cnrcle
when its diameter is 6cm.’

Diameter (x)cm : 1 2 | 3 | 4 5
Circpmference (y)cm 31| 6.2 |93 |124] 155
' (OR)

b) Draw the graph of xy = 24, %, y > 0. Using the graph.
Find (i) ywhenx =3 LVAKL MR M
(i) xwheny = 6. ‘ &,
Y £ Roveey Mgk o ¢ \eL

---------- Vallaven- 162- 82,

wtsteam100@gmail.com
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SM5516G19. L0MeUL L LD &TevmeooT(hLl QUIMSISCHT6Y - 2022

Date : 28-Sep-22
10th Standard

. Reg.No. :
560011 LD &

Answer all the questions.
Exam Time : 03:00:00 Hrs Total Marks : 100

14x1=14
1) n(Ax B) =6 DMHMILD A = {1,3} 6T60{l6V, n(B) L60TSI
@ 1 (2 (3 (6
2) F;=1,F,=3L0MMID F, = Fp.; + Fno 6760185 Q&BT(HEHEHLILILG60T Fs ,60TS
@ 3 () 5 ()8 (d 11
3) {(a,8), (6,b)} I,60TSHI @(H FLOGII&F SFITIL 6160116V, a LOMMILD b LOGHLIL|HETTEUE0T (LNEDMGLL
(@) (8,6) (b) (8,8) (c) (6,8) (d) (6,6)
4) =2 etetrm SRS WPM Camemeauuiletr eflevgalitl L oGy
(@ 0,-3,2 () 0,3,2 (o 1,-3,2 (d) O,-3,4
5) 65 LOMMILD 117-UI6dT LS.QILIIT.6U -606) 65m-117 6T60TM AUGEIIEL 6T(OSILDECUMS!, m-UN6dT
LOGLIL
@4 M2 (©1 (@3
6) (5,7), (3, p) LDOHMILD (6, 6) ETETLIET 62(TH CHMLL_6DILDHFHEMEY 6T60fl6V, p-WiledT LOGHLIL
@ 3 (M 6 (9 (d 12
7) x+y-3x=-6,-7Ty + 7z =17, 3z = 9 6160 QHTSLILNeT B
(@ x=1,y=2,2z=3 (b) x=-1/9=2,2=3 (c) x=-1,y=-2,z=3 (d) x=1,y=2,z=3

25625y 210 .. .
8 2%V E  96dT eufEsEsepsuLh

252676 26
16| z2v* y? 16| y 16 | 222
(@) — (b) 16 © —|—| @ —|—
5 222 5 |x22 51 vy
9) x=atan8LDrj)Q.lLby=bsec 6 6160716V
y2 2 2 y2 2 y2 2 y2
@L-%-1 B 5-L-1 @&E-5-1 @ 5-%-o0

10) FITUI6Y 1838 Q& MeoorTL GBI GSTL_L]60T FITULIGd G T6U0TLD 6T60T6OT ?
(a) 30° (b) 60° (c) 45° (d) 1°

11) (12, 3), (4, a) 6T6OT(D LI6iTerl&H6m6lT @)6m600T&GLD GSHITLLG60T FTULI6Y + 6T60fl6D, ‘@’ ~Wil6oT
LOGLIL
(@ 1 (b) 4 (o) -5 (d) 2

12) @@ Fal_(h& Qs TLIalflengwiley (Lpgev 2 MILIL] 1 MM QUM SSHIUIMEFLD 4 .
@bBSE Fol D5 QSTLIFenFWI 6185 56m60T 2 MILIL|HEM6TE Jol LQ60TITEV 255607
Fa.(hBH6V 120 HeML_&@GHLD?

wisteam100@gmail.com
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13) (I LIGLeYMILIL|E GSTemeUWITeTS 62(H (LD 6UTEESLD 616016V, 8560
SITIESSIRETT 005529 .. 6TevoTen0ll &6 &HUN60 @)L LG LIMILD.
(a) @MemMUILIEOL  (b) LLFFWD () QULemLLILIeoL
(d) CLMInMILEIMNIEL 6TSIRLD &)6V6TI6V
14) (1 GBI C&HIM(H (LN&FESHIME00TLD ABC 60T LIGH&HRIGET AB LDMMILD AC 83 (LP6mMEUI D LDMMILD
E 8w LeTaflaefley Qeul O&ma . GLogud BC && G)606uoTWng: 2 6Teng) elevfley 4L =

@ 42 () 45 (© 2 @ 2

10x 2 =20
15) Bx A = {(-2,3), (-2,4), (0,3), (0,4), (3,3), (3,4)} 6T60{16V, A LDMHMILD B S FPNLIGUDHEDIME T5TE00TS.
16) eLN6VMBIGET 6T Fo (N 56V LDMMILD QLI(HESHMLIEVET Q&BT(HNESLILIL (H6Tens!. @ IHLIL.&

FLOGOTLIM(H 6068 &HIT600TE
-3
—, 1
2
17) a2+ 4a - 12, a2 - 5a + 6 6T60TM LIGVEVMILIL|E CHHTeneUs6rfledr LS. QULIMT6Y a - 2 6Teoflev
leumnledt LS.QILIT.LD &T6o0Tds.
18) & 222 — 21/6x +3 =0
19) LIL_LD 4.40-Wl6V, AD 6T60TLIGI /BAC -Ull6dT @ (HEFLNGQIL_IQ.UIMTGLD. AB = 10 QF.LS, AC = 14
Q&5 LDMHMILD BC = 6 Q& .105.6T60160, BD LOMMILD DC-83 & IT600TSS .

B » D B-a O
e
uth 444
20) Q&MHSGSLILIL L LieTeflgeneT @) emenord @D CBHICaHTL Q60T FITUIENEUS S5T600T5.
(sin O, - cos0) LD@QJLD (-'sin O, cos 0)
21) (-1,2) 6Te0TM L6iTerf] euLdl Q&F6LEUGILD, U6 52 2 6L WIGILOMeoT GBI G&sITLLq 60T
FLOGOTLIML_60)L_& &IT600Ts.
22) A(6, 2), B(-5, -1) LDMMILD C(1, 9) -83 (LPEDICOTEETTEE> Q&5MT600TL AABC-UI6T (LD6m6DT C-
WeS®mB gl euengw LD BHEGSTL Q60T [HETLD SMTe0ords
23) H(H&HGHS.
4’y  bzz®
X
222 20y*
24) 21, 18, 15, .... 6T60TM Fnl_(h& QS TLFalflengulley 81 6T60TLIGI 618 &H6M60TUITOUS! & MILIL|?

25) 13824 = 2% x 3% 616016V, a LOMMILD b -UI6DT LOGFILIL|E> SHTEv0TSs.
26) f: N — N 6T60TMD FITTLIMEOTSI f(x) = 3x + 2, xeN 61607 GU6MJWIMISESHLILIL_L_T6V

3 -WiledT MILp6L 2_([HemeUULD MMILD 53-UIl6dT (LD6OT 2_(HEMEULL|LD &5T600Td
27) /22 = cosec 6 + cot 6 6T6OTLIENS MIEBHLIESHELD.
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28) @b &HIQHMILD (P L06001&:G (b (MM , 2L06001&HE G\ (NN , 3L0600118:E eLOEOT M)
et eSS QarLTha FRwms @G eumH LoesoNd@ELh 660 6TeoLILID 6T6sll6v
([ BITEI160 BI&H&HIQHBTTLD 678 EH6M60T (LN6MM 62601 6T(LOLIL|LD?

10 x 5 = 50
29)A={xeW | x<2, B={xeN |1<x <4} LDMMILD C = (3,5} 67601160 BLDHGQHTH&HELILL(h6TerT
FLOGTUT(H&B6m6TE FflILIMTEH5.
Ax(BUC) =(AxB)U(AxC)

30) If f(x) = 3x - 2, g(x) - 2x + k LDMMILD fo g = g o f 6TEDTI6V, k WI6DT LOFLI6DILIG ST600TS.

31) 396, 504, 636 L,FLIUDHMIEIT LS..61 55T600TS.

32) 602-5GLD 902-&@GHLD @)60L_CUI 4 34,60 UGLIL TS @)UI6V 6T600TSH6T160T T (D FH6V S5T6E00TS.

33) 9 LILL PGFFIN CHMHMLD Ve CHVEN BHMHMEMS TG Hl M| S

34) A ={1,2,3,4} LDMHMILD B = {2,5,8,11,14} 6T60TLIGOT @)\(H S600TBIFH6IT 6T60TH. f: A — B 6T60ILD FITIL
f(x) = 3x - 1 676078 QHBMHGHHLILIL(h6Tensl. @&FaFTTLileneors Q&mesor(h
(i) SADLSSM LIL LD
(i) JL_L_6U60)600T
(iii) uIflem&sd Gamiq serfledr &HevorLd
(iv) QUEMTLIL LD QS Menms GMl&H.

35) (I Blemevwlmeor Birflev 185,18 / LD6wof] CaUBHSH 6V QIFLNID @F @UIHH T LIL&Teordl 24
&),10 srrsens Bifleor Henswiley s5L6 G0 ChIsHens el Bifler erfH T Hensuiley &6
Fa.(hS6VM& 1060011 GBI CHemaUlILBOBMS! . Hifledr CoudsLd &5mevorss

36) Ugmarev CaMmmEems LWaTLRSSTIN60 QaTHISGLILLL Li6eTertlseT Q&miGasmeor
(LNFHCHME0OTH MG 6MLDFHGLD 616018 HITL (.

A(1,-4) , B(2,-3) LDMMILD C(4,-7)

37) 9x* + 12x3 + 28x2 - nx + M.LE0TH 63(H (LN(DEUTEGLD 6T60fl6V, m, n Q,&NUIeUMNI6oT
LOBLIL|B>60)6TE & T6U0TE.

38) (8,6) , (5,11), (-5,12) LDMMILD (-4,3) QLG L|6ITET1S6M6IT (LNEMEOTEHET TS S 618 T600TL
BITMHETSHS 60T LITLIE0LIG &T600Tds.

39) 2x2 - x - 1 = 0 6T60TM FLOGOTLITL_LQ63T PLOGVMISET o LDMMILDA 6T60T16V, HGLD
Q&BMTHSHEHLILIL L eLNEVMHIGHENETU60L_U] @ (HLIL.F FLOGOTLITL_6ML_& &HT600Ts.

o?B, Ba

40) /3 sin 6 - cos O = 0 6T60T16V, tan30 = %

41) @ QLIS GSGS QS TLTeUflenauller 4-aug @ MILIL| LMD 7-6UG & MILIL|s6r 54
LOMHMILD 1458 6T60T16V, B BHSHL QLB G S QS TLTeUflen&FemUIE S5T6ooTds.

42) 6(IH LL6MEIT xy-G6TSHI6V (-6, -4) 6T60rm L6merfluilev 2 aimenal. (5, 11) eTedrm Liemerfluilev sp(m
LIT6L LL LG emeudasLILIL (R6Tengl. LLemeoT LOl&:E GmISU Sy LuleoflS &Il Limev
MBS NBLLRMS! 6T6flev, LiMemeuLl LITH&GeUSM &S G 6m6UULITeoT LIMengUleor
FLOGOTLITL_60)L_&5 &HIT600Ts.
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43) 3 QEMEIGSLILL L (&GS TETLD POR-6IT 565 LId&MaeMeT all&HLh g ET6OTM6UIT Q)

Wwww.waytosuccess.org
R(HEUYGAUTES (LNGHESTE0ITLD GUENTS. (3{6T6) &TJev0f] g)
(OR)

b) 99L& BC = 8 QF.LT, £A4 = 60° LDMHMILD £ A-UI6dT @ (HELOG6UL LG UITETE BC-83 D
eTeoTm Ljeierfluflev BD = 6 Q&F.LS eTedTmeUm Ml FHHEHMS! 6T6vflev, (LN&GSMe0orld ABC
QUM

44) a) (hH BlMIGUETLOMENTS QIGITL_ 58536V 40 GaUemEVUITETE6HL_60T 150 HTeTss6rfley

@(H GauemevemlL (NS5 QSTLRIGWE. LNM&, Calemevenl allenrelnds (LNQSH L
LY 6dTeu®LOM M GeUemeULITETEHEMET B &F15H5 5.

G6UEM VLTS 6TT60T 6TE00TE00T 18560085 (x) 40 50 60 [75
BIT6Tas61Tl60T 6T600T600f1&H6M55 (v) 150120 (100 [80
(i) GLDBVSH QBTN (H6TT SHT6)&H6EHdHE 6UeNTLILLD UemIHS! LOMTMILITL_LQ60T
EUE DL |60 L_UIITEITLD &T600T.

(i) QUEMTLIL SN BHS, BlMIEUETLOMETS 120 GEUEmEVLIFETHEM6T CalemMeVEE DTS
LD 6oT L, GEUEmEV (LLY UL 6T8&H6M60T BITETSHET k@ N6T60TE: G560t

(iii) BEUEMELLLITEDTS 200 BITETE6ITI6V (LOLY.ULI Geu6ToT(BHID 616016V, 6785560760
GeUEELWITEITEH 6T BH606U?

(OR)
b) xy =24, x,y > 0 6T60TM QUMTLIL &M QUMIS. UeMTLIL GHem&L I LTRSS,
(i) x = 3 6T60T16V y — 8385 G5MEvOTE LOMMILD
(ii) y = 6 6T60116V x — 8385 G5IT600TSs.

khkhkkkkkkhkkkhkkhkkhkkhkkhkkhkkhkhkkhkkhkhkkhkkkhkkhkhkhkkkhkkkhkkxk
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SM5315GLq L0MEUL L LD
WWW.WEITESBIEE LOMEUL L LD &TeVMTetor(hILl QUMSISHCHIT6Y - 2022 Date : 28-Sep-22
10th Standard

sanflgid Regho:| | | | | | |

Answer all the questions.
Time : 03:00:00 Hrs

Total Marks : 100
14x1=14
1)
2)

© 3

@ 11

3) (a) (8,6)

4) (b) 0,3,2
5) (b)

(

(

6)

2

c) 9

7) (@) x=1,y=2,z=3
8) 16
d) —
(d) 5

i) & - =1

(© @ULemLLILenL
14)
(b) 42
10x 2 = 20
15)
B x A -60(BIBS! 6TeVeVIT aUIflen s CFMIGH6TI6T (LNFHEL 2 MIL|L|FH6T B -6mWIWLLD
LOMMILD @)T600TLITLD 2_mILIL|&6IT 6D6THSID A -eDWIULLD CFTHSHSHMESLD.
o A=1{3,4)
B = {2,0,3}
16)
eLNeVRIG A 6T Fa(hG6v = -3/2
eLNGVMBIGHETI60T GILI[HEHEHEV = -1
@ BUIQEF FLOETUML Q60T QLM eUlQaILD x2 - (ELNEVHISHET6T Sn(h&Hev) x
+ eLNELTRIGEITlET QLIHESHEV = 0
x2 + (_73)7( -1=0
2x?+3x-2=0
17)
f(x) =a® +4a—12
g(X) =a>—-5a+6
Q&MU .QUIT.6l =a-2
fix) x g(x) = LS.QUIT.L0 x LS.QLIT.6
..o Ax) 8x)

8. ewm. sy
(a2+4a712) (a275a+6)

(@45)(0 "2 (a-3)(a-2)
(a—2) wtsteam100@gmail.com
+ 5.QUIT.LD = (a - 2)(a - 3)(a + 6)

18)
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222 — 2¢/6x + 3 = 222 — v/6x — /62 + 3 (B 2 millenuLl LNl

= VRN Bytos(Bressbri V2 — /3) = (V2z — v/3)(v2z — V/3)
HMTeo0t &6l LLFFWSHMDGEF FeTLbHSHS
(VI - V3) (VI - V3) =0

ELOGUMBIGET &LOLD 6TEOTG6U (/27 — \/3)2 =0

Vazr —/3=0
eTeorGel, _ V3 6TEOTLIS BIUM@LD.
V2
19)

BD = x QI&.L0 6T601&%. DC = (6 - x) Q&F.LS

2A -WI60T @HFLLQGULLY AD QL& LD.

6TeoTG6, GaIMetor @ (HFLNGIGIL LY CHMMEHGOTLILY.,.
AB  BD

AC  DC

10 =z =5 =

4 6-z T 6-=z

12x =30 eTe0TGeY, _ 30 _, Q&L
12

&G, BD = 2.5 QF.L5, DC=6-x=6-2.5=3.5 QF.LO
20)

(sin®, —cosB) wppd (—sinb, cosb)
1 |
(% o W 5 o Yl
m= YY% _ cosf—(—cosb)
Ty—Ty —sinf—sind
2 cosB
- =—cotB

—2 sin®
21)
m==2 yefarfl = (-1,2)
>y-2=2 (x- (1)
sy-2=F (x+1)
=24y-2)=-5(x+1)
=2>4y-8=-5x-5
=>5x+4y=3=5x+4y-3=0
22)
cD 26018l ¢ WledpigieuenTuliLBGLD BHSCHTH 16T,
AB Wlest BRI eiTerfl =D [€5, 2211 — p[L 1

272, 2 272

cD BH\&HCSHTL g 60T Bermid =

=/(1-1/2)2 + (9 -1/2)2 = /(1/2)* + (17/2)2 = \/(1/4) + (289/4) = ,/(290/4) = /(72.5) = 8.5 LGS H6IT

23)
4:1:2y 622’ = 3032
222 20yt 5
24)
21,18,15,..... Fol DSOS TLIT auflens
QmIGa=21,d=18—-21=—3
Fol DSOS TLT auflenguiledr n' 6ugl 2 milL|
tn =a+ (n—1)d
t, = —81 6T60fl6L
—81 =21+ (n—1)(-3)
—81—21 = (n—1)(-3)

=n-—-1

~21,18,15, ... @©)60T 35 QUG 2 MILIL] - 81
25)
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26)

13824
wwyKwaytosuccess.org
3456
1728
864

432
216
108
54
27
9

3

6T60TG6U = 29 X 3% =13824 = 22 X 3P
~a=9, 0MHMIDb = 3.

WL NN RO N R

f: N — N 6T60TM FTILIMEOTS! f(x) = 3x + 2, xEN 6T60T GUENTUIMIGSLILIL_ (H6TEMSI.

x = 3 6T60T16V, £(3) = 3(3) + 2 = 11

3 -UIl6dT MBILP6L 2 (B 11 QG LD.

53-UI160T (LDEdT 2_(Ih x 6T60f16V, f(x) = 53. 6Te0TGRY, 3x + 2 = 53
3x=51=>x=17

53-UN60T (LPEOT 2_(1FH 17 QLG LD.

27)

\/Hcose - \/ Lol Licol [1-cos 6 Wiledr @)emeooTenISs Q\&sMetoT(h) LIS LommILD

1—cosf 1—cosf

LGBl QLUHE 6D
\/ (Lrcos)’  1icoss 16QEOTEOTIED sin, 0 + cos,8 = 1]

1—cos? Vsin20
_ 14cosf

- = cosecH + cotBO
sinf

28)

244+ 6+..424=2(1+2+3+..+12)=2x w = 156

29)

30

Q&EMH&HSLLL LS

A={zeW|z<2}=A={0,1}
B={zeN/l<z<4}=8B={23,4}

C = {3,5)

Ax(BUC)=(AxB)U(AxC(C)

BUC = {2,3,4,5}

Ax (BuC)={0,1} x{2,3,4,5}
=1{(0,2),(0,3),(0,4),(0,5),(1,2),(1,3),(1,4),(1,5)} ...(1)
A xB=1{0,1} x {2,3,4}
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)}

AxC=1{0,1} x {3,5}

={(0,3),(0,5),(1,3),(1,5)}

(Ax B)U (A x C) = {(0,2),(0,3), (0,4), (0,5), (1,2), (1,3), (1,4), (1,5)}
(1),2) O BHS,

Ax (BUC)=(Ax B)U(AxC) 6le0TLIG)
Qseflaum&mal.

eTeoTG6l, FFIILUMTSSLILL LS.

)

10x 5 =250
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flx) =3x-2,gx -2x+k
£ 0 gl FAbSuERSS R = 3(2x + k) - 2 = 6x + 3k - 2
6T60TG6), f o g(x) = 6x + 3k - 2
gof(x)=gBx-2)=208x-2)+k
6T60TG6), g o flx) = 6x - 4 + k
fog=gof6ereordh GHTHEHSHLILL (h6Temsl.
6x+3k-2=6x-4+k
6r—6z+3k—k=-4+2=2k=-2=k=—1

31)
Bi6| QHMH&HSLILL L eLneTmi 6Tetoras6rfledt LY. QULIT.6U &T6oorT, BITLD (LN&Hel6L
(LLG&6V @)(IH 6TevoTGH6M160T LS. QLIIT.6. &5Mesor GLIITLD.
396 LOMMILD 504 Q,ENIEUMHMIEOT LS. QULIT.6) &IT60oT,
W, &6fl19.60T UGS S60 U LDememUIL] LIW6TLI(RISS HITD QILIMIGIS! 504 = 396
x 1+ 108
@M LG 108 # 0
LSevoT(HILD W, &61T119.60T 6UE&H 5560 euUlLNemMenUIL LILETLI(HSS 396 = 108 x 3 +
72
@mIG G 72 # 0
LSevoT(HILD W, &61T119.60T 6U@&H S &6V aul(nemmenUL LTRSS BITD QLMIeIS
108=72x1+36
@mIG G 36 =0
LSevoT(HILD W, &61T119.60T 6@ 58560 eul(LnemnmenUL LILeTLI(HSS HITLDC I MIel S
72=36x2+0
@B LSE) = 0. 6T60TG6U 396 LOMMILD 504-UIl6dT LS.QLIIT.6U 36 2,&LN2636/ LDMHMILD
36 —UNedT LS. QUUIIT.6U &5T6voT, Wl,8561T11q 68T 615 &6V auLSl(LPemMeRLIL
LWeTLI(h&S BITD QLIMIAIGI 636 = 36 x 17 + 24
@B LSE) 24 # 0
LSevor(HILD W, &561f119.60T 6@ 5560 eudl(pemnmenulLl LTSS BITD QL mIaIS
24=12x2+0
@B LSE) = 0. 6160166, 636 LOMMILD 36 ~U6dT LE.QILIIT.61 = 12
6TeoT @6 396, 504 LOMMILD 636 ~UN6OT LSLIGILIH QLTS UGS 12 2, G&LD.

32)
602 &GLD 902 H@GLD @)eML_UI6L 2_6T6M4.24,60 aUEGHLIL TS @)UI6V 6TesoTd6r 60T
Fn(hB6V = 602 &GLD 902 HEGLD @)eMLUIlEV 6T 6T6LEVIT @)UI6V 6T600TE61160T
Fa(HBH6V - 602 &@GLD 902 &G0 @eMLUNCD 2 _6T6T 4 960 UGLIGILD @)UY
61600t 85 61Tl60T G (H)F56V
Su = 2[2a + (n — 1)d]
+'(LPS6V n' @)WI6V 6TevoTE561Tl60T o (556D

_ n(n+1)
5, =

603+ 604+ ..... 4901 = (1+24...+901)—

(1+24+3+...+602)
__ 901x(901+1)  602x(602+1)

2
__ 901x902 602x603

= 4,026, 351 — 12:81, 503
=2,24,848
602 &G0 902 &G @emLLILIL L 4 9560 eUGUBILD @)UI6V 6TetordH6r 60T Fo () &6V
604 + 608 + ... +900

l—a
RET

4
= () +1="44+1=175
Sn = 2[2(604) + (75 — 1)(4)]
= T % 2[604 + (74 x 2)]
=75 X 752
= 56400
GHEMEUUITEIT Fn (h &6V
= 224848 - 56400
=1,68,448
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33)

www.waytosu@cess.org

3

DA 2NE.

VAR

B c
&l
& CHICHT(H) (N&HECHTETSHHOT 2(H LISEHSHMEG @)6m60oT LM LD D51
LOMHM @\(H LISHSHMHIGHN6T QUL (HILOMMILD eUemFUILILIL L T6L AN&HGSM(H
jeualgesor(h) LIsSBIGen6TL DS ellTEg5 5560 LflaSHma.
IBlerpLI6uoT LD
QEMHIGELILL L6 : AABC -Ull6y AB-UiledT GLogwiaTer Leerfl D, A c-uiledr GLO6Y
o 6iTerT

LjeTer] E @b@&LD

ﬂ(ﬂjlﬂéi&i:

AD _ AE

DB ~— EC

SjeMLOLIL] : DE || BC 6U6MTS.

6T600T FoM M &ITIJ600TLD

1. /ABC = /ADE = /1 565 G&:Me00ThIG6T &FLOLD. JQ60Tenfl6v DE | | BC

2. LACB=/AED=/2 &&5 G5Te0hl&6T FLOD. FGleTesflev DE || BE
@\(H (LNFHCHMTEOOTHEIFHEBLD 62(H GILIMTSI6)T60T
GH MOS0 HE 65 MT60oT(h6TETSI

3. /DAE = /BAC = /3

ANABC ~ ANADE

AB __ AC

AD AE

ADIDE _ ABLEC AAA IS (WPEOMLILIL. 6255 LI 55MmIGH6IT

14+ D814 BC B GFFLOLD D MHMILD E-8L 1 LudedTLI(H &S AB
. |z-x= LoHAILD A0-83 LG S60. FHSEGSH0L 8B

4D _ 45 ua’sqsrfuasaﬂgu[o 1 -9B5&H5. HMVHLOMSE
LOMMHmIS

CamMMLD BlemLIGSHLILLL &I

BC &G @)6meuorWLIMeoT CBHHESM(H DEALIMETSI,AB 83 D-UIeYID AC =-83 E UIlewitn
QEULIQ6TITEV (i) 42 = 49 (34) 2 = AC

plemLeoorid AABC Ullev U9l6D
eTer@ey 42 = 4Z (9)qilemL ellSHHEFFID CHDHMLILIY)

(i) HeOVBBIWINE eT(HGSIEESTEOOTL M6V BITLD QLIS L2 = £C o @D
QUMD 1 83l L

DB 1=E 4+

DBLAD - % gegemas.u_lrreb 45 _ 40

(i) @MBUMPLD 183 &l L,

40 1 1=48 1

6T60T G % = g—g
34)
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A=1{1,2,3,4}; B=1{2,5,8,11,14}; f(x) = 3x - 1

f(1) =W waltosdcedssotg f(2) = 3(2) -1=6=35
f(3)=3@3)-1=9-1=8;f(4)=4(3)-1=12-1=11

(i) HDLSSM LILLD

FTFL f:A —B - 8 @(h DLUEGM LLSSTeL GMILIGLITLD. (LLLD.1.19).

A B
p -
[ 2l >—f5
& _—-S

[
| ""' -
i 14

o 1.19
(ii) IL_L_6U6DIGO0T {6MmLOLIL
FriLY £ BCL QHTHEELILILH6TET 3L L 6alenetorulme) @GmILICUITLD.
x 1234
f(x)2/58[11
(iii) euflengd C&FmIq s6rfledr &HevoriD
gy -3 auifleng G&Ml &erfledT S600TLOME 6T(LR&SEVITLD.
f=1{(1,2),(2,5),(3,8),(4,11)}
(iv) eUemJLILLD
LIL_LD 1.20 2_6/T6T XY-S6N&5H60 G CBICSHTL L6V (1,2), (2,5), (3,8), (4,11) LT
LjeimerflaseT @nl&aLILL_(H6TerTeoT.
e ;?4.111

10 f

E /
8 4 (3.8

5T /

54 ,"/ 12,5)
L. ln’

il

L Jaa

8

35)
Brileor Gaussld = x &),L5 / L06vof] 61601 . @QUIBST LIL& GeussLd = 18 &),LS /

oeoofl BL&GLD ST = 24 &),15 Bifler Hlensullev &G GBI T, =
= 24/z +18 Biflett 7HT HenFUN6EHL_HELD GBI To-= 24/18-¢ T, - Ty =1
[24/18—2] —[24/z+18] = 1 [482/324—3?] =1 48%x =824 x> x2+48x-324=0 (x+54)(x-6)=0 x=-54
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